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I'pammaruka:

(Gentle) reminder: Listen to — and repeat — the story at least two more times!!

18.A

Uses of Ha + BuHutenbHbIN: For

Let’s review various verbs and nouns that combine with Ha + accusative with the meaning for:

(more examples — two for each)

pacnucinue Ha (3ABTPA/TISITHAILY/3UMY )
Kaxkoe y Te0s pacnncanue Ha cpény?

Hajaéxna Ha (Oymymiee/mooény)
Het Hukakoit Hanexap1 Ha mooemy!

ona3abIBaii+ // omo3aaii+ Ha (3aHATHS/KOHIEPT)
OH Bceraa onasanlBacT HA 3aHIATHS.

ecTh // ¢b- Ha (34BTpaK/00&1/yK1H)

OOBIYHO 51 eM OOJBIIYIO TapENKy KAIIM Ha 34BTpPaK.

AéHbru Ha (0€3/1Ky/ONIéT/Mainy)
OTKyna THI B35UT IEHBTH HA OUIETHI?

KOMHATA HA OJHOI'0 Y4eJI0BEKA

B o6mexunTusax B Pocciu npakTAYeckd HET KOMHAT Ha

OJIHOTO CTYJEHTA.

napii+ // mo- KoMy 4uto Ha (cBans0y/Hoserit I'ox)

OHn nogapun MHe «Mepcenéc» Ha JCHb POKIEHIS.

noAApok Ha (1eHp poxacHus/PoxaectBO Christmas)

Sl nuty nmonapok marepu Ha Poxnectso.

Co

I gave him money for vodka.

MepeBeanTe Ha PYCCKUIA.

W =

What did you eat for breakfast yesterday?

5. Tam never late for a date.

7. He has no hope for the future.

schedule for (time period)
What's your schedule for Wednesday?

hope for (future; event)
There’s no hope for victory.

be late for (event)
He’s always late for class.

eat for (meal)
1 usually eat a big bowl of hot cereal for breakfast.

money for (thing)
Where did you get the money for the tickets?

room for one person (Stick with one person for now)
In dorms in Russia there are practically no singles.

give someone something for (occasion)
He gave me a Mercedes for my birthday.

gift for (occasion)
I'm looking for a Christmas present for my mother.

I want a room for one person.
4. What’s your schedule for tomorrow?

What do you plan to give our Russian professor for
(his) birthday?

8. Where will he get the money for a new car?
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18.6 Approximation: Move Noun in Front of Number (and Preposition)

Recall that in Russian to express approximation move the noun directly in front of the number. In the examples
below, we’ll indicate the original position of the noun by [roun]:

Tam ObUTO COOAK MATHIACCAT [noun. There were about 50 dogs there.

VY Hero KHUT MATHCOT [noun. He has around 500 books.

ror (oroammapar cTouT pyonéit nBéCTH [noun). That camera costs about 200 rubles.
Mpb1 Ky Oy TBUIOK IECATH [noun] KPACHOTO BUHA. We bought about ten bottles of red wine.

Note that in the last example only the “head” noun itself (6yTeLIKa) moves; the adnominal genitive phrase
(kpacHoro BUHA) remains in place. Some more examples of the genitive staying behind:

OHA BBINKJIA CTAKAHOB BOCEMb [noun] MHABA. She drank about eight glasses of beer.

51 cven KyckOB OECSTH [noun| TUIOXOH MATIIIEL. 1 ate around ten pieces of bad pizza.

When the number ends in 2, 3, 4 you must keep the noun in the genitive singular (we’ll review numbers later on,
but recall that after 2, 3, 4 the noun appears in genitive singular). In other words, don’t touch the form of the
noun:

Ms1 poBenu Henénu Ase [noun| B [aprike. We spent around two weeks in Paris.

B mocnénnee BpéMs s CILTIO Yaca TpH [noun]| K&xmyto  Lately I've been sleeping about three hours a
HOYb. night.

Onw xunu B JIOHAO0HE TOAa YeThIpe [noun]. They lived in London for about four years.

When the number phrase is the object of a preposition you must move the noun in firont of the preposition.
(Remember, nothing comes between a preposition and its complement.)

MeI sierny 9acoB B IECTh [noun. We went to sleep around 6.00.

A BepHyCh yaca uépes aBa [noun]. I'll be back in about 2 hours.

Onn yéxanmu B MOCKBY MEcsIia Ha YeThIpe [noun]. They went to Moscow for around 4 months.
18.b.1 When movement of the noun is restricted

There are several cases where this approximation construction is restricted. For now, we’ll simply list these
cases, and later on we’ll explain some of the strategies you can take to express approximation with these.

Can’t Move Noun in Front of Number for Approximation

1) When the number ends in any for of 0dun
2) When the noun is modified by an adjective
3) When a preposition governs a case other than accusative

4) When any form of meicsaua or munauon is involved
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(Believe us, this whole thing can get quite complicated. For now, just stick to “basic” approximation phrases like
10,171apoB cOPOK; Yyaca yépe3 1Ba; 4acOB B 1IECTh, etc.)

% MepeBeguTe Ha PYCCKUN.
1. She has around 200 books. 2. We went to sleep at around 4:00.
3. His computer costs around $800. 4. We spent around 3 weeks in Munich.
5. She usually gets home from work at around 10PM. 6. She drank (Brmmmna) about 10 glasses of water.
7. There were around 50 tigers at the performance. 8. She’ll arrive in around 2 hours.

18.B The Genitive Plural of YHenoBék: YenoBék

When the noun yenoBék is used with a number > 5, the genitive plural form is not sronéit but yesoBék (which is
identical to the nominative singular). Recall that the noun pa3 also has a genitive plural form that is identical to
the nominative singular. Of course, with numbers ending in 1 use yenoBék, and with 2, 3, 4 use yesioBéKka.

Genitive plural genoBék is also used with the question word ckoéabpko. However, with the quantifiers mamo and
MHOT0, the form Jronéii is used.

18.B.1 Verb agreement with number phrases

Fasten your seatbelts for some bizarre facts about Russian verbal agreement. There are three possibilities for the
number/gender of the verb in sentences that contain a number in the subject (in nominative):

Number ends in oguH: Number ends in 2, 3, 4: Number ends in > 5:
Singular Verb (Agrees in Gender) Plural Verb *Neuter Singular or Plural Verb
IMpumén cTo onvH 4enoBEK. [pummmi cTo 1Ba yenmoBéxa. [Tpommnd/IIpunuti cTo 4emoBeéx.

*Generally, a neuter (singular) verb is used with numbers > 5 (as well as with the “quantifier” ckémbko), though
this can get rather complex (depending on word order, the type of verb [transitive or intransitive], and what is
being emphasized). You could easily write an entire dissertation on this topic.

Some more examples:

Bo BpéMs BOMHEI TOTHOI0 IPUMEPHO TBAIATH

) . During the war about 20 million people perished.
MHJUTUOHOB YEJIOBEK.

Tam Oyner 4enoBex COpOK. There will be about 40 people there.

CkO1pKO 9eTI0BEK PUILIO? How many people came?

Tonpko 1Ba YenoBéka OBUIM Ha JTEKIHH. Just two people were at the lecture.

Ha criexraksie ObUT CTO OZHH YE€/IOBEK. There were 101 people at the performance.
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g& MNepeBeanTe Ha pyCcCKuUi.
1. There were about 100 people at the concert. 2. Four people fell asleep at the lecture.
3. Forty-one people arrived from Petersburg. 4. How many people were at the party?
5. There will be about 500 people at the wedding. 6. Twenty-two people noticed him.
7. Around 50 people perished during (Bo Bpéms + 8. Suddenly 101 people got up and left (Bemme+ (e))

genitive) the earthquake (3emmerpsicénue).

the auditorium.

18.I

Some Reminders That Pycckun = English

Here are a few sentences we’ve had over the past week that illustrate some of the ® many unpredictable (and
unsystematic) ways in which Russian and English differ. Our main point here is that in your translations you
need to think “How would I express this idea in English?” This is not always easy, but you surely realize by now
that very often a word-for-word translation between the two languages just won’t work.

Pycckumn

“Best” English Translation

Difference / Problem

OH unuTéeT NéKIUU JOBOJIBHO CKYYHO.

He’s a rather boring lecturer.

Russian can make an adverb from
boring, while English cannot.

Jéunru emié He BCE.

Money isn’t everything.

Russian for some reason requires emé.

...TpOKIAaHCKast BOHA B AMEpHKE...

...the American Civil War...

In this case, Russian does not like
making an adjective out of America.

Ha skx34MeHax Bce BOIPOCHI OBUIH 1O
KHUTaM.

On the exams all the questions were
about the readings.

You really can’t say questions about
books; readings sounds better to us.

So, what’s the point of all this? Quite often you face a dilemna when translating. On the one hand, when
translating into English you want (and need) to show that you understand the structure of the Russian. On the
other hand, this can result in a rather clumsy sounding English sentence. Our advice: Translate into the most
natural sounding English you can — and add a note or two if you want to explain an “odd” construction.
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18.4 Three Little But Tricky Words: U, A, HO

Let’s review how these three small but tricky conjunctions are used in Russian.

o U

N is used to link two non-contradictory notions, and always corresponds to English and.

OH yMHBIN B KPacHBBIH. He’s smart and good-looking.
A kynina xae6 1 MOJIOKO. I bought bread and milk.
Bépa u Céma urparoT B m1axmarel. Vera and Sasha are playing chess.

To say both...and, used u...u:

OH 3HAET ¥ PYCCKUI 1 HEMEIKHIA. He knows both Russian and German.

M Mama n Cama 3acHyJd Ha JIEKIIHH. Both Masha and Sasha fell asleep in the lecture.

o A

A can appear as several different words in English (and in some cases, as no word at all).

1) A is often used when presenting people or things, and is translated and.

Oto BuTs, a 3To ero xeHa. This is Vitya, and this is his wife.
31ech y MEHsI CTOMT KOMITBIOTED, a PSIOM MPUHTED. My computer is here, and next to it is my printer.
Xoporid. ITo Tk, a 3TO KTO? OK. (I understand.) That’s you, and who is that?

In the first two sentences, it is not impossible to have u, but a is much preferred. In the final example, only a is
possible.

2) A is used to link two phrases which are in contrast but not contradiction with each other. This use of a can be
translated with either and or but — depending on the strength of the contrast. (Often this use of a corresponds
to whereas.)

OH MonondH, a oHA cTapasi. He'’s young and (whereas) she is old.

Péanbrre on MHOTO TIHJI, @ TETIEPH OUEHB MAJIO. He used to drink a lot, but (whereas) now he
(drinks) little.

Oro KOMIKa, a 3T0 cobaKa. This is a cat and that’s a dog.

In the final example, because of the nature of cats and dogs, a definite contrast is felt. In the examples in 1), there
is much less contrast felt between the computer and the printer (or between Buts and his wife), which is why it is
also possible to have u in those sentences.

18-5



pammaTuka 18- ypok

3) A isused when a positive statement is contrasted with a negative statement, and is translated either but or
and, depending on the syntax:

OH He paboTaer, a cauKkyerT. He’s not working, but goofing off-

Mrima nypak, a He TEHHI. Misha is a fool and not a genius.

4) In some cases a has no translation in English; it is used simply to move conversation along. (Sometimes so is
a close approximation.)

Mesns 30ByT Mimia. A kak Bac 30ByT? My name is Misha. What's your name?
— V Heé B 00IIEKATHN CBOSI KOMHATA. — She has her own room in the dorm.
— A y Hac B Poccrn 3TOro nmpakTH4ecKH HET. — In Russian that is almost unheard of.
A xak Tam OBUI0? So, how was it there?

e Ho

Ho is reserved for rather sharp contrasts or outright contradictions, and is almost always translated with but.

OH BC€ BpEéMsI 3aHUMACTCS, HO TIOTYYAET IUIOXHE He studies all the time but gets bad grades.

3aMETKH.

OH yMHBIH, HO HE OYCHb KPACHBBIH. He'’s smart but not very atiractive.

OH4 BCc€ npounTana, HO HUYErd He MOHSIIA. She read everything but didn’t understand
anything.

O06¢ OBUT TOTPSACAIONINN, HO TAKOH TOpOTroii! Dinner was fantastic but really expensive.

S Te0s OUeHb 000, HO MBI HE MOXEM OBITh I love you very much, but we cannot be together!

BMécTe!

YécrHo roBopsi, the use of these three conjunctions is more complicated than what we have presented here. In
many cases more than one of the three is possible. Both a and Ho are often possible in the same context, the
choice depending on the strength of the contrast. Our suggestion: Learn what’s here and keep you eyes and ears
open for how Russian writers and speakers use these words.

g@ MNepeBeauTte Ha pycckui. Be sure to note which conjunction is used.
1. This is my despicable professor, and this is his 2. He’s sleeping not working.
wife.
3. My name is Natasha. What’s your name? 4. Gleb is not a genius but (rather) a fool.
5. He’s young and rich. 6. Kolya goes to Princeton, and Vera to Harvard.
7. He’s rich, but not very generous. 8. Both Nina and Vitalik got drunk.
9. He works like a dog but earns little. 10. So, how was it there?
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18- ypok — [lomawuHee 3apgaHue
25 YnpaxHénue 1  OTBETbTe Ha BONPOCHI MO PACCKA3Y:

1.



18- ypok — [lomawuHee 3apgaHue
2<  YnpaxHéHue 2 [lepeBeamTe Ha PYCCKMIA:

1. Idon’t know squat about the American Civil War.

2. We nearly fell asleep at the lecture.

3. I gave his around 5 CDs (disks) for his birthday.

4. There were around 100 people at the concert.

5. No one noticed me at the party.

6. What are your plans for Friday?

,@f YnpaxHénue 3 Fill in the blanks with either a, n, Ho:
1. S nrobmaro ¢bunocodpuro HCTOPHIO.

2. Sl yuaycs B [IprHCTOHE, Mos cecTpa B bpaywe.

3. OHA4 paHo serna, HE MOTJIA 3aCHYTb.

4. Omu He paboOTaer, VUHTCSL.

5. Dro Kocrs, 3o erd néru. (comma after Kocrs!)

6. Dro Kocrs erd nétu. (no comma after Kocrs!)

7. T'épa mMHOTO UHTAET, BCE paBHO OH OYEHB IITYIIBIH.
8. Memns 308yt JIfo0a. KaK Bac 30BYT?
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